

## ON POSITIVE SOLUTIONS OF A NONLINEAR FOURTH ORDER BOUNDARY VALUE PROBLEM VIA A FIXED POINT THEOREM IN ORDERED SETS

J. HARJANI, B. LÓPEZ, AND K. SADARANGANI

Departamento de Matemáticas, Universidad de Las Palmas de Gran Canaria  
Campus de Tafira Baja, 35017 Las Palmas de Gran Canaria, Spain  
e-mail: [matematicas.jackie@yahoo.es](mailto:matematicas.jackie@yahoo.es), [blopez@dma.ulpgc.es](mailto:blopez@dma.ulpgc.es),  
[ksadaran@dma.ulpgc.es](mailto:ksadaran@dma.ulpgc.es)

**ABSTRACT.** This paper presents sufficient conditions for the existence and uniqueness of a positive solution to a nonlinear fourth-order differential equation under Lidstone boundary conditions. Our analysis relies on a fixed point theorem in partially ordered sets.

**AMS (MOS) Subject Classification.** 47H10, 34B18.

### 1. INTRODUCTION AND PRELIMINARIES

The fourth-order differential equation

$$(1.1) \quad u^{(4)}(t) = \lambda f(t, u, u', u'', u'''), \quad t \in (0, 1),$$

with Lidstone boundary conditions

$$(1.2) \quad u(0) = u(1) = 0 = u''(0) = u''(1),$$

has received a lot of attention in the last decades since it models the stationary states of the deflection of an elastic beam with both ends hinged (see [20]).

Some of the main tools of nonlinear analysis have been applied in the literature devoted to the study of problem (1.1)–(1.2): lower and upper solutions [3, 7, 8, 17], monotone iterative technique [1, 9, 11], Krasnoselskii fixed point theorem [5], fixed point index [2, 15, 21], Leray-Schauder degree [10, 13] and bifurcation theory [16, 19].

In this paper we are interested in the positive solutions of problem

$$(1.3) \quad \begin{aligned} u^{(4)}(t) &= f(t, u), \quad t \in (0, 1) \\ u(0) &= u(1) = 0 = u''(0) = u''(1). \end{aligned}$$

A particular case of this problem is

$$\begin{aligned} u^{(4)}(t) &= \lambda h(t)f(u), \quad t \in (0, 1), \quad \lambda > 0 \\ u(0) &= u(1) = 0 = u''(0) = u''(1), \end{aligned}$$

which has been recently studied in [6] by using a slight variant of a fixed point theorem proved in [4].

In [6] the uniqueness of the solution is not treated.

The main tool in our work is a fixed point theorem in partially ordered sets which appears in [12].

In what follows, we present some results about the fixed point theorems which we will use later. These results appear in [12].

**Definition 1.1.** An altering distance function is a function  $\psi: [0, \infty) \rightarrow [0, \infty)$  which satisfies:

- (a)  $\psi$  is continuous and nondecreasing.
- (b)  $\psi(t) = 0$  is and only if  $t = 0$ .

**Theorem 1.2** (Theorem 2.2 of [12]). *Let  $(X, \leq)$  be a partially ordered set and suppose that there exists a metric  $d$  in  $X$  such that  $(X, d)$  is a complete metric space. Assume that  $X$  satisfies the following condition*

$$(1.4) \quad \text{if } (x_n) \text{ is a nondecreasing sequence in } X \text{ such that} \\ x_n \rightarrow x \text{ then } x_n \leq x \text{ for all } n \in \mathbb{N}.$$

Let  $T: X \rightarrow X$  be a nondecreasing mapping such that

$$\psi(d(Tx, Ty)) \leq \psi(d(x, y)) - \phi(d(x, y)), \quad \text{for } x \geq y,$$

where  $\psi$  and  $\phi$  are altering distance functions. If there exists  $x_0 \in X$  with  $x_0 \leq Tx_0$  then  $T$  has a fixed point.

If we consider that  $(X, \leq)$  satisfies the following condition:

$$(1.5) \quad \text{for } x, y \in X \text{ there exists } z \in X \text{ which is comparable to } x \text{ and } y,$$

then we have the following result.

**Theorem 1.3** (Theorem 2.3 of [12]). *Adding condition (1.5) to the hypotheses of Theorem 1.2 we obtain uniqueness of the fixed point of  $T$ .*

In our considerations, we will work in the Banach space

$$\mathcal{C}[0, 1] = \{x: [0, 1] \rightarrow \mathbb{R}, \text{ continuous}\},$$

with the standard norm  $\|x\| = \max_{0 \leq t \leq 1} |x(t)|$ .

Note that this space can be equipped with a partial order given by

$$x, y \in \mathcal{C}[0, 1], \quad x \leq y \iff x(t) \leq y(t), \quad \text{for } t \in [0, 1].$$

In [18] it is proved that  $(\mathcal{C}[0, 1], \leq)$  with the classic metric given by

$$d(x, y) = \max_{0 \leq t \leq 1} |x(t) - y(t)|$$

satisfies condition (1.4) of Theorem 1.2. Moreover, for  $x, y \in \mathcal{C}[0, 1]$ , as the function  $\max\{x, y\}$  is continuous,  $(\mathcal{C}[0, 1], \leq)$  satisfies condition (1.5).

On the other hand, the boundary value problem (1.3) can be rewritten as the integral equation (see, for example, [14])

$$u(t) = \int_0^1 G(t, s) f(s, u(s)) ds,$$

where  $G(t, s)$  is the Green function given by

$$(1.6) \quad G(t, s) = \begin{cases} \frac{1}{6}s(1-t)(2t-s^2-t^2), & s \leq t \\ \frac{1}{6}t(1-s)(2s-t^2-s^2), & s > t. \end{cases}$$

Note that  $G(t, s)$  is a continuous function on  $[0, 1] \times [0, 1]$  and  $G(t, s) = G(s, t)$ . Moreover,  $G(t, s) \geq 0$  for  $t, s \in [0, 1]$ . In fact, for  $s \leq t$  we have

$$\begin{aligned} G(t, s) &= \frac{1}{6}s(1-t)(2t-s^2-t^2) \geq \frac{1}{6}s(1-t)(2t-t^2-t^2) \\ &= \frac{1}{6}s(1-t)(2t-2t^2) \\ &= \frac{1}{6}s(1-t)2t(1-t) \geq 0. \end{aligned}$$

The case  $t < s$  is a direct consequence from  $G(t, s) = G(s, t)$ .

On the other hand,  $G(t, s) = G(1-t, 1-s)$ . In fact, for  $s \leq t$  we have  $1-t \leq 1-s$  and, consequently,

$$\begin{aligned} G(1-t, 1-s) &= \frac{1}{6}(1-t)s[2(1-s) - (1-t)^2 - (1-s)^2] \\ &= \frac{1}{6}s(1-t)[2t - t^2 - s^2] \\ &= G(t, s). \end{aligned}$$

From  $G(t, s) = G(s, t)$  we can obtain the case  $t < s$ .

Finally, a straightforward calculation gives us

$$\begin{aligned} \int_0^1 G(t, s)^2 ds &= \int_0^t G(t, s)^2 ds + \int_t^1 G(t, s)^2 ds \\ &= \frac{1}{945}t^2(t-1)^2(3t^4 - 6t^3 - t^2 + 4t + 2). \end{aligned}$$

Moreover, if in the integral  $\int_0^1 G(1-t, s)^2 ds$  we make the change of variables  $s = 1-u$  and taking into account  $G(t, s) = G(1-t, 1-s)$  we get

$$\begin{aligned} \int_0^1 G(1-t, s)^2 ds &= - \int_1^0 G(1-t, 1-u)^2 du \\ &= \int_0^1 G(1-t, 1-u)^2 du \\ &= \int_0^1 G(t, u)^2 du \\ &= \int_0^1 G(t, s)^2 ds. \end{aligned}$$

This means that the polynomial

$$\int_0^1 G(t, s)^2 ds = \frac{1}{945} t^2 (t-1)^2 (3t^4 - 6t^3 - t^2 + 4t + 2)$$

is a symmetric function with respect to  $t_0 = 1/2$  and, consequently, as  $t(t-1)$  is also symmetric function with respect to  $t_0 = 1/2$  then

$$q(t) = 3t^4 - 6t^3 - t^2 + 4t + 2$$

must be symmetric with respect to  $t_0 = 1/2$ .

Therefore

$$\max_{0 \leq t \leq 1} q(t) = \max_{0 \leq t \leq \frac{1}{2}} q(t).$$

If the maximum is reached at  $(0, \frac{1}{2})$ , the symmetric character of  $q(t)$  says us that the derivative of  $q(t)$  has at least two zeroes in  $(0, 1)$  and consequently, the second derivative of  $q(t)$  has at least one zero in  $(0, 1)$ . But

$$q'(t) = 12t^3 - 18t^2 - 2t + 4$$

$$q''(t) = 36t^2 - 36t - 2$$

and  $q''(t)$  does not vanish in  $(0, 1)$  and, consequently, the maximum of  $q(t)$  is reached in  $t_0 = 0$  or  $t_0 = 1/2$ . As  $q(0) = 2$  and  $q(1/2) = 51/16$ , thus,

$$\max_{0 \leq t \leq 1} q(t) = \max_{0 \leq t \leq 1/2} q(t) = q\left(\frac{1}{2}\right) = \frac{51}{16}.$$

Moreover, as the maximum of  $h(t) = t^2(1-t)^2$  is reached at  $t_0 = 1/2$  we get

$$\begin{aligned} \max_{0 \leq t \leq 1} \int_0^1 G(t, s)^2 ds &= \max_{0 \leq t \leq 1/2} \int_0^1 G(t, s)^2 ds \\ &= \frac{1}{945} \cdot \left(\frac{1}{2}\right)^2 \cdot \left(\frac{1}{2}\right)^2 \cdot q\left(\frac{1}{2}\right) \\ &= \frac{17}{80640}. \end{aligned}$$

## 2. MAIN RESULT

In this section, we present the main results of the paper.

**Theorem 2.1.** *Consider problem (1.3) with  $f: [0, 1] \times [0, \infty) \rightarrow [0, \infty)$  continuous and non-decreasing with respect to the second variable and suppose that there exists  $0 < \alpha \leq \sqrt{\frac{80640}{17}}$  such that, for  $x, y \in [0, \infty)$  with  $y \geq x$ ,*

$$(2.1) \quad f(t, y) - f(t, x) \leq \alpha \sqrt{\ln [(y - x)^2 + 1]}.$$

*Then problem (1.3) has a unique nonnegative solution.*

*Proof.* Consider the cone

$$P = \{x \in C[0, 1] : x(t) \geq 0\}.$$

Obviously,  $(P, d)$  with  $d(x, y) = \sup \{|x(t) - y(t)| : t \in [0, 1]\}$  is a complete metric space. Moreover,  $(P, \leq)$  with the partial order defined by

$$x \leq y \iff x(t) \leq y(t), \quad \text{for } t \in [0, 1]$$

satisfies condition (1.4) and (1.5) (see, Section 1). (Notice that for  $x, y \in P$  then  $\max\{x, y\} \in P$ .)

Consider the operator defined by

$$(Tu)(t) = \int_0^1 G(t, s)f(s, u(s))ds, \quad \text{for } u \in P,$$

where  $G(t, s)$  is the Green function defined in Section 1.

Since  $f(t, x)$  and  $G(t, s)$  are nonnegative continuous functions  $T$  applies  $P$  into itself.

In what follows, we check that hypotheses in Theorems 1.2 and 1.3 are satisfied.

The operator  $T$  is nondecreasing, since for  $u, v \in P$ ,  $u \geq v$  and  $t \in [0, 1]$ , we have

$$(Tu)(t) = \int_0^1 G(t, s)f(s, u(s))ds \geq \int_0^1 G(t, s)f(s, v(s))ds = (Tv)(t).$$

(Notice that  $f$  is nondecreasing with respect to the second variable.)

Besides, for  $u, v \in P$  and  $u \geq v$ , and, taking into account our assumptions and the above mentioned properties of the Green function (see, Section 1), we can get

$$\begin{aligned} d(Tu, Tv) &= \sup_{0 \leq t \leq 1} \left| (Tu)(t) - (Tv)(t) \right| \\ &= \sup_{0 \leq t \leq 1} \left( (Tu)(t) - (Tv)(t) \right) \\ &= \sup_{0 \leq t \leq 1} \int_0^1 G(t, s) \left( f(s, u(s)) - f(s, v(s)) \right) ds \\ &\leq \sup_{0 \leq t \leq 1} \int_0^1 G(t, s) \alpha \sqrt{\ln \left[ (u(s) - v(s))^2 + 1 \right]} ds. \end{aligned}$$

Using the Cauchy-Schwarz inequality in the last integral we get

$$\begin{aligned} & \int_0^1 G(t, s) \alpha \sqrt{\ln \left[ (u(s) - v(s))^2 + 1 \right]} ds \\ & \leq \left( \int_0^1 (G(t, s))^2 ds \right)^{\frac{1}{2}} \cdot \left( \int_0^1 \alpha^2 \ln \left[ (u(s) - v(s))^2 + 1 \right] ds \right)^{\frac{1}{2}} \end{aligned}$$

and, as

$$\int_0^1 \alpha^2 \ln \left[ (u(s) - v(s))^2 + 1 \right] ds \leq \alpha^2 \ln \left[ \|u - v\|^2 + 1 \right] = \alpha^2 \ln \left[ d(u, v)^2 + 1 \right],$$

$\sup_{t \in I} \int_0^1 (G(t, s))^2 ds = \frac{17}{80640}$ , and  $\alpha \leq \sqrt{\frac{80640}{17}}$ , we can get

$$\begin{aligned} d(Tu, Tv) & \leq \sup_{t \in I} \left( \int_0^1 (G(t, s))^2 ds \right)^{\frac{1}{2}} \cdot \left( \alpha^2 \ln \left[ d(u, v)^2 + 1 \right] \right)^{\frac{1}{2}} \\ & = \alpha \left( \ln \left[ d(u, v)^2 + 1 \right] \right)^{\frac{1}{2}} \sqrt{\frac{17}{80640}} \\ & \leq \left( \ln \left[ d(u, v)^2 + 1 \right] \right)^{\frac{1}{2}}. \end{aligned}$$

The last inequality gives us

$$\begin{aligned} d(Tu, Tv)^2 & \leq \ln \left[ d(u, v)^2 + 1 \right] \\ & = d(u, v)^2 - \left( d(u, v)^2 - \ln \left[ d(u, v)^2 + 1 \right] \right). \end{aligned}$$

Put  $\psi(x) = x^2$  and  $\phi(x) = x^2 - \ln(x^2 + 1)$ . Obviously,  $\psi$  and  $\phi$  are altering distance functions, and we have

$$\psi(d(Tu, Tv)) \leq \psi(d(u, v)) - \phi(d(u, v)), \quad \text{for } u, v \in P \text{ with } u \geq v.$$

Finally, as  $f$  and  $G$  are nonnegative functions

$$(T0)(t) = \int_0^1 G(t, s) f(s, 0) ds \geq 0,$$

and Theorems 1.2 and 1.3 give us that  $T$  has a unique fixed point or, equivalently, our problem (1.3) has a unique nonnegative solution.  $\square$

**Remark 2.2.** Note that  $G(1, s) = G(0, s) = 0$  and for  $t \neq 0, 1$ ,  $G(t, \cdot) \neq 0$  a.e. because  $G(t, \cdot)$  is given by a polynomial.

In the sequel, we present a sufficient condition for the existence and uniqueness of positive solutions for our problem (1.3) (positive solution means  $x(t) > 0$  for  $t \in (0, 1)$ ).

**Theorem 2.3.** *Under assumptions of Theorem 2.1 and suppose that  $f(t, 0) \neq 0$  for  $t \in A \subset [0, 1]$  with  $\mu(A) > 0$ , then our problem (1.3) has a unique positive solution. (Here  $\mu$  denotes the classical Lebesgue measure in  $[0, 1]$ ).*

*Proof.* Notice that the nonnegative solution given by Theorem 2.1 for our problem (1.3) satisfies

$$x(0) = \int_0^1 G(0, s)f(s, x(s))ds = \int_0^1 0 \cdot f(s, x(s))ds = 0$$

$$x(1) = \int_0^1 G(1, s)f(s, x(s))ds = \int_0^1 0 \cdot f(s, x(s))ds = 0.$$

Moreover, taking into account our assumptions, the zero function is not solution of problem (1.3). In fact, in contrary case, we have

$$0 = \int_0^1 G(t, s)f(s, 0)ds, \quad \text{for } t \in [0, 1].$$

This and the nonnegativity of the functions  $G(t, s)$  and  $f(s, 0)$  gives us

$$G(t, s) \cdot f(s, 0) = 0 \quad \text{a.e., for } t \in [0, 1].$$

As  $G(t, -) > 0$  a.e. (see Remark 2.2) then

$$f(s, 0) = 0 \quad \text{a.e.}$$

which contradicts our hypothesis.

Now, suppose that there exists  $0 < t_0 < 1$  such that  $x(t_0) = 0$ . As  $x(t)$  is a fixed point of the operator  $T$  which appears in Theorem 2.1, we have

$$x(t_0) = \int_0^1 G(t_0, s)f(s, x(s))ds = 0.$$

As  $x(s) \geq 0$  and the fact that  $f$  is nondecreasing with respect to the second variable, we can obtain

$$0 = x(t_0) = \int_0^1 G(t_0, s)f(s, x(s))ds \geq \int_0^1 G(t_0, s)f(s, 0)ds \geq 0$$

and the last inequality gives us

$$\int_0^1 G(t_0, s)f(s, 0)ds = 0.$$

By using an analogous argument to the used one previously, we can conclude that

$$f(s, 0) = 0 \quad \text{a.e.}$$

and this contradicts our hypothesis. Therefore, for  $t \in (0, 1)$ ,  $x(t) > 0$ . This finishes the proof.  $\square$

**Remark 2.4.** Notice that as  $f: [0, 1] \times [0, \infty) \rightarrow [0, \infty)$  is continuous, the fact  $f(\cdot, 0) \neq 0$  give us automatically the assumption that appears in Theorem 2.3. Indeed, as  $f(\cdot, 0) \neq 0$  there exists  $t_0 \in [0, 1]$  such that  $f(t_0, 0) > 0$  and using the continuity of  $f$ , we can find a set  $A \subset [0, 1]$  with  $\mu(A) > 0$  such that  $f(t, 0) > 0$  for  $t \in A$ .

In [6] the authors obtained sufficient conditions for the existence of positive solutions for the following fourth-order equation with Lidstone boundary conditions

$$(2.2) \quad \begin{aligned} u^{(4)}(t) &= \lambda h(t)g(u), \quad t \in (0, 1), \quad \lambda > 0 \\ u(0) &= u(1) = 0 = u''(0) = u''(1). \end{aligned}$$

More precisely, the main result in [6] is the following theorem.

**Theorem 2.5** (Theorem 3.1 [6]). *Suppose that  $h: [0, 1] \rightarrow [0, \infty)$  is continuous and not identically zero in  $[\frac{1}{4}, \frac{3}{4}]$ ,  $g: \mathbb{R} \rightarrow [0, \infty)$  continuous,  $\lim_{s \rightarrow \infty} \frac{g(s)}{s} = +\infty$ , and there exists  $B \in [0, +\infty)$  such that  $g$  is nondecreasing on  $[0, B)$ . If*

$$0 < \lambda < \sup_{s \in (0, B)} \frac{s}{\gamma^* g(s)},$$

where

$$\gamma^* = \max_{t \in (0, B)} \int_0^1 G(t, s)h(s)ds,$$

then problem (2.2) has at least a positive solution.

Note that in [6] the uniqueness of the solution is not treated.

Some particular cases of problem (2.2) can be treated by our Theorem 2.3 and we additionally obtain uniqueness of the solution. For example, if  $g(0) > 0$  and  $g(y) - g(x) \leq \sqrt{\ln [(y-x)^2 + 1]}$ , for  $0 \leq x \leq y$ , with  $g: [0, \infty) \rightarrow [0, \infty)$  continuous and nondecreasing with respect to the second variable, and  $h: [0, 1] \rightarrow [0, \infty)$  continuous and not identically zero (in particular if  $h$  is not identically zero in  $[\frac{1}{4}, \frac{3}{4}]$ ). In this case,  $f(t, u) = \lambda h(t)g(u)$  and, obviously,  $f: [0, 1] \times [0, \infty) \rightarrow [0, \infty)$  is continuous and nondecreasing with respect to the second variable. Moreover, for  $0 \leq x \leq y$  we have

$$\begin{aligned} f(t, y) - f(t, x) &= \lambda \cdot h(t) [g(y) - g(x)] \\ &\leq \lambda \cdot h(t) \sqrt{\ln [(y-x)^2 + 1]} \\ &\leq \lambda \cdot \|h\| \sqrt{\ln [(y-x)^2 + 1]}, \end{aligned}$$

where  $\|h\| = \sup \{h(t) : t \in [0, 1]\}$ . As  $f(t, 0) = \lambda h(t)g(0)$ ,  $g(0) > 0$  and  $h$  is not identically zero, Remark 2.4 says that  $f(t, 0)$  satisfies the assumption appearing in Theorem 2.3. Consequently, for  $\lambda \leq \frac{1}{\|h\|} \sqrt{\frac{80640}{17}}$ , Theorem 2.3 says us that problem (2.2), for this particular case, has a unique positive solution.

**Remark 2.6.** Notice that in [6] the authors allow to the nonlinear part to be zero at  $u = 0$ , but their results don't ensure the uniqueness of the solution.

### 3. ACKNOWLEDGEMENT

This research was partially supported by “Ministerio de Educación y Ciencia”, Project MTM 2007/65706

### REFERENCES

- [1] Z. Bai, *The method of lower and upper solutions for a bending of an elastic beam equation*, J. Math. Anal. Appl., 248 (2000), 195–202.
- [2] Z. Bai, H. Wang, *On positive solutions of some nonlinear fourth order beam equations*, J. Math. Anal. Appl., 270 (2002), 357–368.
- [3] A. Cabada, J. A. Cid, L. Sánchez, *Positivity and lower and upper solutions for fourth order boundary value problems*, Nonlinear Anal., 67 (2007), 1599–1612.
- [4] A. Cabada, J. A. Cid, *Existence of a non-zero fixed point for nondecreasing operators proved via Krasnoselskii’s fixed point theorem*, Nonlinear Anal., 71 (2009), 2114–2118.
- [5] J. Chu, D. O’Regan, *Positive solutions for regular and singular fourth-order boundary value problems*, Commun Appl. Anal., 10 (2006), 185–199.
- [6] J. A. Cid, D. Franco, F. Minhós, *Positive fixed points and fourth-order equations*, Bull. London Math. Soc. 41 (2009), 72–78.
- [7] J. Ehme, P. W. Eloe, J. Henderson, *Upper and lower solution methods for fully nonlinear boundary value problems*, J. Diff. Equations, 180 (2002), 51–64.
- [8] D. Franco, D. O’Regan, J. Perán, *Fourth-order problems with nonlinear boundary conditions*, J. Comput. Appl. Math. 174 (2005), 315–327.
- [9] Y. Guo, Y. Gao, *The method of upper and lower solutions for a Lidstone boundary value problem*, Czechoslovak Math. J. 55 (2005), 639–652.
- [10] C. P. Gupta, *Existence and uniqueness theorems for some fourth order fully quasilinear boundary value problems*, Appl. Anal., 36 (1990), 157–169.
- [11] P. Habets, L. Sánchez, *A monotone method for fourth order boundary value problems involving a factorizable linear operator*, Port. Math. 64 (2007), 255–279.
- [12] J. Harjani, K. Sadarangani, *Generalized contractions in partially ordered metric spaces and applications to ordinary differential equations*, Nonlinear Anal., (2009), doi:10.1016/j.na.2009.08.003.
- [13] G. E. Hernández, R. Manasevich, *Existence and multiplicity of solutions of a fourth order equation*, Appl. Anal., 54 (1994), 237–250.
- [14] A. J. Jerri, *Introduction to integral equations with applications*, 2nd edn (Wiley-Interscience, New York, 1999).
- [15] X. L. Liu, W. T. Li, *Existence and multiplicity of solutions for fourth-order boundary value problems with parameters*, J. Math. Anal. Appl., 327 (2007), 362–375.
- [16] R. Ma, *Existence of positive solutions of a fourth-order boundary value problem*, Appl. Math. Comput., 168 (2005), 1219–1231.
- [17] F. Minhós, T. Gyulov, A. I. Santos, *Existence and location result for a fourth order boundary value problem*, Discrete Contin. Dyn. Syst. Suppl. (2005), 662–671.
- [18] J. J. Nieto, R. Rodríguez-López, *Contractive mapping theorems in partially ordered sets and applications to ordinary differential equations*, Order 22 (2005), 223–239.
- [19] B. P. Rynne, *Infinitely many solutions of superlinear fourth order boundary value problems*, Topol. Methods Nonlinear Anal., 19 (2002), 303–312.

- [20] S. P. Timoshenko, *Theory of elastic stability*, McGraw-Hill, New York, (1961).
- [21] J. R. L. Webb, G. Infante, D. Franco, *Positive solutions of nonlinear fourth order boundary value problems with local and nonlocal boundary conditions*, Proc. Roy. Soc. Edinburgh Sect. A 148 (2008), 427–446.